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Q1. A, B 3R C U%h &1 &I HHRT: 12, 18 3R 24 & # [T &% T&d &, 3 THIId HTA
PRAE, A, 4 7 916 o1 ST d¢ P A1 @ 3R B PR T A A 2 a7 vgd wrd
BIS a1 8. P fban feq & gy 8hme

(a) 12 &

(b) 14 fa=

(c) 16 &

(d) 8 faA

(e)10 fT

L1Difficulty 2

QTags Time And Work

QCreator Deepak Rohilla

Q2. TH GIRMAT g 3R Uit & fArgor Y 9% ufd dfier W 99 & 20% a1y ufofa F=ar
%.uﬁ%t«ﬁawguaﬁaﬁm 10% €, Y fau e fargror & ger 3R Uit &7 3rqurd
fpa 82

(@)3:1

(b)4:1

(c)3:2

(d)4:3

(e)3:4

L1Difficulty 2

QTags Mixture and allegation
QCreator Deepak Rohilla

Q3. T if3a wwa o, wer fAif3a ga ifr 8k 10% ufd af &Y &7 wr 599 ura
HTYTRUT TSl & AT BT FUTd 10:3 3. ¥4 P foran aul & fore fFawr faar war ar?
(@)1

(b) 3

(95

(d) 7

(e)9

L1Difficulty 2

QTags Simple Interest

QCreator Deepak Rohilla

Q4. 1 3 WA A 3R B I TG I= Bl § 3R v 50 fapeirder 3w
sofrdi/eeT &Y TIfar & Td e Fi 3R Tedt §. I fHa- & qug gad ¢ A ugdt



o @1 ga-1 | 100 fHt eiftrs amn 31 8. A 3R B & 7w & g3t g1d BIfvw:
(a) 990 ot
(b) 1200 fopdit
(c) 1100 foHt
(d) 1440 foeit

(e) 1000 fopit
L1Difficulty 2

QTags Trains

QCreator Deepak Rohilla

Q5 wgmﬁzooﬁaﬁ%gg:w%hﬁﬁm% TR YN IR HIT § 3R
qferg & 3T s & fae T IR 3R HHI HAH: 10 fHHT 3R 11 fr+
i geT &1 fd A Psd §. Gﬁ%mmnwaﬁwﬁmﬁtﬁﬁo

(a) 100 HIe?

(b) 190 HieR

(c) 200 Hiex

(d) 150 HieR

(e) 120 HIeR

L1Difficulty 2

QTags Speed Time Distance

QCreator Deepak Rohilla

Q6. TS BTG 13.50 & Ufay frum ux 80 fbam H+h @dar 2. 3“@16 tri%rﬁnn
qreit 120 forur -1 & Iy e A 2. 20%a?rm‘uari%haﬂﬁ e

P fpaq +ud # S==1 Tfee?

(a) 18 =04 Ufd fooon

(b) 17 =9 Ufd fopam

(c) 16.40 4T Ufd fon

(d) 15 =93 gfa foeun

(e) 14 =99 Ufd fooon

L1Difficulty 2
QTags Profit And Loss
QCreator Deepak Rohilla

Q7. QI 3P aTelt T P 3ih] BT INT 15 . <1 TS TWAT P 3ih| S VI BT 319 &
ICd B T F&AT &1 TE I=T ¥ 9 3if¥es . <1 S H= qid S,

a) 87

7

(c) 69

(d) 96

(e) 378 T IS g

L1Difficulty 2



QTags Number System
QCreator Deepak Rohilla

Q8. T8 7T P Wge fAeraq & fore Sanfra far wirar 8. afe ¥ # 709 uri giar ©,
3R 59 79 9 UTWd Wge A 17% UTHI g 8, @ 1 fhal Y5 e Ui oA & fHa-n
Td 39 Sa1ierd foear s anfge?

(a) 2.77 foat

(b) 1.54 foat

(c) 4.01 foar

(d) 3.5 foalr

(e) 4.5 fopal

L1Difficulty 2

QTags Mixture and allegation
QCreator Deepak Rohilla

Q. | | AT F 3y, ITP! A Bt 3113 TFL 8. 3T A 8 9 a1, HAT 3R ITP!
Tt BT 3T BT SFUTd 10: 3 TR HAT B aedar= 3y fra-i 87

(a) 32 9%

(b) 40 T

(c) 36 TY

(d) 42 T

(e) 46 IY

L1Difficulty 2

QTags Ages

QCreator Deepak Rohilla

Q10. €I ATd A 3R B 108 f gr 3 UM | TP g FI 3R Tadl 8, Ma T T A
3R B Bt fa wuRr: 12 fHlt uld ger oiv 15 forrft ufa ver 8. afe A u_T & ergea
3R B YRT & Ufdgd a1 &1 3, df 4 fva awg a1 frdwe

(a) 4.5 °cT

(b) 4 9eT

(c) 5.4 ¥cT

(d) 3.6 Tl

(e) 8.4 HcT

L1Difficulty 2

QTags Boat And Stream
QCreator Deepak Rohilla

Q11. fHur & AIfY® da- &1 IRE U= FHIaT & ATRIS dd4 & Iidg Ufd=d &
IR 3. G BT ATRIS a1 AHIaT & T1f® da- &1 e §. afe G &1 aiffe aaq=
1.08 AT@ ¥ §, dt fpwor &1 wifdres A9 fa=r 82

(a) 20,000%



(b) 18,000%

(c) 26,000%

(d) 24,000%

(e) 22,500%
L1Difficulty 2

QTags Percentage
QCreator Deepak Rohilla

Q12. 99 ‘P’ TYY &I IR 99 & T 99 ufdad JrURor sarst Uer= H34 arell dirr A
fra=r fopan wiTaT 8 a9 Tt saTSt A AR BT 129 gfday IR TS Y 3R W
99 & fore fAa=r 39 A U TS | 360% 31fw 8. P &1 A fba-r g7

(a) 2000 ¥UT

(b) 3500 ¥UTY

(c) 2500 ¥UT

(d) 4000 ¥UT

() 3000 ¥UT

L1Difficulty 2

QTags Simple Interest

QCreator Deepak Rohilla

Q13. TP TR, e fashdl B 20% Fe W TP avg 94T §, Afb fSefiast ek
71 & fIT Fe fT T Y& (piscounTeD PRICE) TR 10% TS BT €. JeT fashel
39 Y YU ¥ 2046 TUT 3Hftre W S=ar §, 3R 25% PT A1H HHIT ©.

ATIRT §RT 39 a5 W fba=r gea sifea fasar mar ur7

(a) 9400 =TT

(b) 9000 =TT

(c) 8000 TUT

(d) 12000 YT

(€) 9300 =TT

L1Difficulty 2

QTags Profit And Loss

QCreator Deepak Rohilla

Q14. U gd Pt URY &1 3R TP T & ufATd &1 TNT 272 A P ISR 8. gd BT
1 56 A 3. 9 SR Tl & &Fwa &1 anT fara-n 32

(a) 2464 T I}

(b) 2644 T T}

(c) 3040 T It

(d) 3080 ¥ T

(e) 3240 T I}

L1Difficulty 2

QTags Mensuration



QCreator Deepak Rohilla

Q15. TP 1P foread 5 HTelt 3R 4 a1 e & STH 2 FIedl Tl & g 9 $t WRkPpar
ot g2

(a)5/18

(b)7/18

(c)13/18

(d)5/36

(e)11/18

L1Difficulty 2

QTags Probability

QCreator Deepak Rohilla

Solutions
S1. Ans.(d)
Sol.
F
4 — B — 18 772
3 — C —24
6X4+4xX(d—-2)+3xd=72
24+4d -8+ 3d =72
7d — 8 = 48
7d = 56

d = 8 days
S2. Ans.(a)

Milk : Water=K: 1

~SP=(K+1)x9

Gain=9-K

. 9K
Gain %—ﬁx 100
=90 — 10K = 20K
= 30Kk =90=K =3

Sol. ~ Ratio=3:1

S3. Ans. (b)
SI%100

Time=————

FrinciplexRate

=2 * 1o _ 3 years
Sol. 0 10 7Y

S4. Ans.(c)
Sol.
Let distance between A and B is x km.



Let after - the trains meets to each other.
=~ 60t-50t=100

=t =10 hours

=~ Distance between them =110 x 10 =1100 km

S5. Ans.(a)

Distance covered by thief in 6 minutes

10 o
= o —
60

=1km

and, policeman will first cover the 200 m
and then the remaining distance.

Time taken by policeman to cover 200 m

200 1
~ 1000 °11

1,60 12
= E = E min. = ﬁ min

.~ Distance between them after 6 minutes

11760
Sol. = 100m
S6. Ans.(a)
Sol.

Selling price of mixture of rice per kg
_ (80x13.5+120x16) 120

X
200 100

M-
= X —
100

= 18 rupees

S7. Ans.(b)
Let the numberis 10x + y
~xX+y=15..(i)
and
10y +x-10x-y=9
=-x+y=1 ..(ii
From (i) and (ii), we get
y=8andx=7
~ Numberis =78

Sol.

S8. Ans.(c)

Sol. Equate the amount of honey in nectar and honey, because we need pure honey only
and not water.

Let x = amount of nectar to be processed, then



30 _, 83
XXX = 1, (1kg of pure honey)

= x=4.01kg

S9. Ans.(a)
Let age of daughter = x years

Age of Meena = 8x years

According to the question,
Sx48 o 10

x+8 3

= 24x + 24 = 10x + 80 = 14x = 56

aE=4

Hence, Meena's presentage =4 x 8
Spl. = 32 years

S10. Ans.(b)

Sol.

Let the speed of the stream be x kmph and both the boats meet after t hours
According to the question,
(12+x)t+(15-x)t=108

= 12t + 15t=108= 27t= 108

108
=t="—=4hours
27

S11. Ans.(d)

Suri's monthly salary = 1,08,000 = ﬁ
=9000
- Kiran's monthly salary

16
= — X 18000
12

= Rs 24000
Sol.
S12. Ans.(e)
Px9x4 Px12xX2Z
— = 360
100 100
36000
P= = P = 3000
12
Sol.

S13. Ans.(e)



Let marked price was Rs. P.

80 110 88P

-~ Cost price to retailer = P X X
100 100

Selling price by retailer
8P 125 B B8P

b4 =
100 100 100

+ 2046

=P =9300
Sol.

S14. Ans.(c)
Let side of square isa cm

~mD + 4a = 272, where D = Dia. of circle
=2 % 56+ 4a = 272

272-176
=a=

=a=24cm
~ Required sum = E D? + a*
22 1 .
=—X—X56x%X56+ 24
7 4
= 2464 + 576

= 3040 cm?
Sol. cm

S15. Ans.(a)
Required probability
°C, bx4
9, 9x8
5

Sol. 18

100



